Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$29,328,894.91	\$27,777,071.93
Contributions	\$21,000.00	\$1,248,115.72
Withdrawals	(\$275,000.00)	(\$1,375,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$21,923.45	\$78,448.38
Administrative Expense	(\$400.97)	(\$2,309.00)
Investment Expense	(\$641.40)	(\$6,148.46)
Investment Manager Fees	(\$33.31)	(\$1,046.98)
IFA Loan Repayment	\$0.00	(\$21,769.76)
Adjustment	(\$1,164.74)	(\$1,164.74)
Realized Gain/Loss	\$48.53	\$10,785.54
Unrealized Gain/Loss	(\$410,194.59)	\$977,449.25
Ending Balance	\$28,684,431.88	\$28,684,431.88

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	10.61%	10/03/2022

BROADVIEW POLICE PENSION FUND

Fund Name:

Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$819.85	\$46,914.22
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$805.92)	(\$48,861.91)
Income	\$3.26	\$59.60
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$16.39)	\$1,514.28
Unrealized Gain/Loss	(\$0.80)	\$373.81
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	90.353	5,373.209
Unit Purchases from Additions	0.000	45.563
Unit Sales from Withdrawals	(90.353)	(5,418.772)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

BROADVIEW POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	10/14/2022

BROADVIEW POLICE PENSION FUND

Fund Name:

IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$29,328,075.06	\$27,730,157.71
Contributions	\$21,000.00	\$1,248,353.83
Withdrawals	(\$275,000.00)	(\$1,375,000.00)
Transfers In/Out	\$805.92	\$48,793.35
Income	\$21,920.19	\$78,219.23
Administrative Expense	(\$400.97)	(\$2,309.00)
Investment Expense	(\$641.40)	(\$6,148.46)
Investment Manager Fees	(\$33.31)	(\$1,046.98)
IFA Loan Repayment	\$0.00	(\$21,769.76)
Adjustment	(\$1,164.74)	(\$1,164.74)
Realized Gain/Loss	\$64.92	\$9,271.26
Unrealized Gain/Loss	(\$410,193.79)	\$977,075.44
Ending Balance	\$28,684,431.88	\$28,684,431.88

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	2,941,609.611	2,923,929.717
Unit Purchases from Additions	2,216.839	131,517.114
Unit Sales from Withdrawals	(27,817.487)	(139,437.868)
Ending Units	2,916,008.963	2,916,008.963
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

BROADVIEW POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.75%	10/21/2022

Statement of Transaction Detail for the Month Ending 05/31/2023 BROADVIEW POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(805.92)	8.919671	(90.3530)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(1,164.74)	9.970075	(116.8236)
05/12/2023	05/15/2023	Redemptions	(275,000.00)	9.927560	(27,700.6636)
05/24/2023	05/25/2023	Contribution	21,000.00	9.837097	2,134.7761
05/25/2023	05/26/2023	Transfers In	805.92	9.820810	82.0625